ASSEMBLY INSTRUCTIONS

K7FTSP - Spout Extension 7ft Steel Arched 250mm

KOCIMA =

COMPANY

1-800-522-8874



Thank you for your purchase of this Kooima Company product.
Your extension will need to be attached to your spout per these instructions.

Please follow the enclosed instructions carefully to prepare your cutter for a successful and safe
harvest.

ITEM NO. | PART NUMBER DESCRIPTION

1 K104293 SPOUT STIFFENERBRACKET

2 K104292 REPLACEMENT LEVER FORTHE 5' EXTENSION
3 K54380 INNERSPOUT DEFLECTCR

4 FH5001062 BRACKET ACTUATOR EXT STROKE

5 FH5001059 LINK 7' EXT

6 K104290 REPLACEMENT 5'EXTENSION LINK

7 K53234 QUTER SPOUT DEFLECTOR

Figure 1: Correctly Installed Extension with Parts Breakdown

;miwlnn%é K22416CF Assembly Instructions Page 2 of 6

COMPANY



Mounting Actuator Extended Stroke Mechanism

Install actuator mechanism as shown. Tighten 2” x 2.5” bolt to within .06” of
being tight. The bracket must pivot freely on the actuator.

Figure 3: Actuator Mechanism Installed On Spout

M8 X 80 BOLT
1/2" X 2.5 BOLT

OEM PIN

Figure 2: Actuator Mechanism Hardware

— =Mn . . - K22416CF Assembly Instructions Page 3 of 6
COMPANY



Installing Deflectors and Deflector Rods

The OEM triangular bracket that the spout deflector rod mounts to must be flipped, as
shown below, to allow the deflectors to pivot as needed for this curved extension.

TRIANGLE BRACKET MUST
N BE FLIPPED AS SHOWN

Figure 4: New Bracket Position

Attach deflector rods and pivot link as shown.

CROP FLOW

Figure 5: Deflector Rods and Pivot Link Installed

Wl'lﬂ%% K22416CF Assembly Instructions Page 4 of 6

COMPANY



Optional Lightweight Inner Deflector

These deflectors are mounted similarly to OEM steel deflectors. Replace the OEM spring
with the spring included. New bushings, spacers, and hardware are included with your
deflector purchase.

Figure 6: Installed Deflectors

im% K22416CF Assembly Instructions Page 5 of 6

COMPANY



BUSHING: .67" X 40" X .8" LONG

SPACER: 1.1" X 59" X .19 THICK

LARGE DIAMETER M10 WASHER

M10 X 30 CARRIAGE BOLT

BUSHING: .75" X .40" X 31" LONG—

M10 X 40 BOLT

Figure 8: Deflector Hardware Locations

1.1” X .59" X .19”
THICK SPACER IS

INSTALLED BETWEEN
THE DEFLECTORS

Figure 7: Spacer Location

— - %ﬂnﬁ/\té K22416CF Assembly Instructions Page 6 of 6

COMPANY



